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PART A—GENERAL ENGLISH

Pa#sage _for Questions No. 1 to 10. Read it carefully before answering these guestions

The work which Gandhiji had taken in hand was not only the achievement of political freedom but
establishment of a social order based on truth and non-violence, unity and peace, equality and universal
brotherhood, the maximum freedom for all. This unfinished part of his experiment was perhaps even more
difficult to achieve than the achievement of freedom. In the poiitical struggle the fight was against a foreign

-power and all could and did either join in it or at least wish it success and give it to their moral support. In
establishing the social order of his pattern, there was a lively possibility of a conflict arising between groups
and classes of our own people. Experience shows that man values his possessions even more than his
jife because in the former he sees the means for perpetuation and survival through his descendants after
his body is reduced to ashes. That new order cannot be established without radically changing men's mind
and attitude towards property and at some stage or other the haves have to yield place to the have-nots.
We have seen in our time attempts to achieve a kind of egalitarian society and the picture of it in action
after it was achieved. But this society and the picture of it in action after it was achieved. But this was
done, by and large, by the use of physical force. In the result it is difficult, if not impossible, to say that the
instinct to possess has been rooted out or that it will not reappear in an even worse form under a different
face. It may even be that like gas kept confined within metaliic containers under great pressure, or water
held behind a big dam, that breaks the barrier, reaction will one day sweep back with a violence equal in
extent and intensity to that was used to establish and maintain the outward egalitarian form. This enforced
egalitarianism contains in its bosom the seed of its own destruction. The root cause of class-conflict is
possessiveness or the acquisitive instinct. So long as the ideal that is held up to be achieved is one of
securing the maximum of material satisfaction. Possessiveness is neither suppressed nor eliminated but
grows by what it feeds upon. Nor does it cease to be such, it is possessiveness still whether it is confined
to a few only or is shared by many. |f egalitarianism is to endure, it has to be based not on the possession
of the maximum of material goods whether by few or by all but on voluntary enlightened renunciation denying
oneself what cannot be shared by others or can be enjoyed only at the expense of others. This calls for
substitution of spiritual values for purely material ones. The paradise of material satisfaction that is
sometimes equated with progress these days neither spells peace nor progress. Mahatma Gandhi showed
us how the acquisitive instinct inherent in man could be transmuted by the adoption of the ideal of trusteeship
by those who have for the benefit of all those who have not so that, instead of leading to exploitation and
conflict, it would become a means and incentive to the amelioration and progress of society.

1. According to the passage, true egalitarianism will last, if
A. itis based on truth and non-violence
B. it is thrust upon people
C. people incuicate spiritual values along with material values
D. haves and have-nots live together peacefully.
2. According to the passage, peopie ultimately overturn the form of a social order
A. which is based on coercion and oppressioh
B. which is based upon congciliations and reapprochement
C. which does not satisfy their basic needs
D

which is not cohgenial to the spiritual values of the people



According to the passage, the root cause of class confiict is

A
B.

C.
D.

exploitation of the have-nots by the haves.
dominant inherent acquisitive instinct in man
the paradise of material satisfaction

a social order which underbrivileged are not involved in its establishment.

Which of the following statement is not true in the context of the passage ?

A
B.

C.
D.

New order can be established by radically changing people’s outlook towards it._
Enforced egalitarianism can be the cause of its own destruction
Adoption of ideal of trusteeship can minimize possessive instinct

ideal of new order is to secure maximum material satisfaction

According to the passage, which of the following statements is true?

A

B.
C.
D.

In establishing the social order of Gandhi's pattern, possibility of a conflict between different
classes of society hardly existed.

A social order based on truth and non-violence alone can help the achievement of political freedom
It is difficult to change men's mind and attitude towards property

In an egalitarian society, material satisfaction can be enjoyed only at the expense of other.

According to the passage, the adoption of ideal of trusteeship means

A

C.
D.

adoption of the ideal by the have-nots for the benefit of the society
equating peace and progress with material satisfaction
voluntary, enlightened renunciation of possessive instinct by the privileged class

substituting spiritual vaiues for material values by those who live in paradise of satisfaction

According to the passage, egalitarianism will not survive if

A

B.
C.
D.

underprivileged people are not involved in its establishment.
it is achieved by resorting to physical force
it is based on voluntary renunciation

people's outlook towards it is not radically change

According to the passage, man values his possessions more than his life because '

o o w

he is endowed with possessive instinct
he has inherent desire to share his possessions with others
only his possessions help him to earn love and respect from his descendants

through possessions he can preserve his name after his death



9.

10.

According to the passage, which was the unfinished part oi Gandhiji's experiments ?

A. Establishment of an egalitarian society -

B. Achieving total political freedom for the country

C. Educating people to avoid class conflict

D. Radically changing men's mind and attitude towards truth and non-violence

Which of the following statement is not true in the context of the passage ?

A True egalitarianism can be achieved by giving up one's posseésions under compulsions
B. possessive instinct is a natural part of human being

C. man values his life less than his possession

D. Inthe political struggle the fight was against the alien rule

Direction : For question Nos. 11 to 20, each sentence has three parts, indicated by A, B & C.

Read each sentence to find out whether there is an error. If you find an error in any one of the
parts (A, B, C) indicate your response by blackening the letter related to that part in the Answer
sheet provided. [f a sentence has no error, indicate this by blackening D which stands for “No

error”.

1.

12.

13.

14.

15.

“16.

17.
18.
19.
20.

(A) We insisted/ (B) but neither Sheila no her sister/ (C) are ready to work on a holiday/

(D) No error ,

(A) He cannot withdraw/ (B) all his money/ (C) unless he do not gives advance notice/

(D) No error

(A) Shakeel was accused/ (B) for various offences/ (C) committed by him during the last year/
(D) No error

(A) Parmod said that/ (B) he prefers a white shirt (C) than coloured one on any festive occasion/
(D) No error

(A) He had invited me to the theatre/ (B) but when | went there / (C)he was nowhere to see /
(D) No error |

(A) Their violently quarrel/ (B) over pay and allowances/ (C) was the main reason of his resignation/
(D) No error : )

(A) | have been trying/ (B) to get in tough with Sunita but | feel/ (C) she is gone out/ (D) No efror
(A) No sooner did/ (B) Meena reach the station then/ (C) it started raining/ (D) No error

(A) He demonstrated/ (B) to them how/ (C) he was prepaM the miraculous drug/ (D) No error
(A) Since he was not/ (B) well yesterday, he/ (C) could not be able to attend office/ (D) No error

Directions : For question No. 21 to 30, FOUR words A, B, C and D are given, one .of which

MAY BE WRONGLY SPELT. Find out that word, the spelling of which is WRONG

21.

A. accepted B. mentioned

C. upportunity D. physician



22.

23,

25,
26.
27.

28.

30.

32.

33.

34,

C.

The injection was Fiven to the patient to alleviate the pain
A elevate " B. sharpen

C. aggravate _ D. promote

We must remember that like ali other things days of prosperity wili end too
A trouble B. disaster

C. adversity D. misfortune
The army had adequate ammunition for the battle

A insufficient B. meagre

C. deficient D. poor

The rainfall was plentiful in this part during the Iast session
A handful B. rare

C. small D. scanty
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negotiations
accident
financial
securities

precent

- through

irritate
ignoerant
perform
procedure
defence
sanctipn
competition
mathematics
enthusistic
impression
lenient

overhaul _

-D.

Directions : For question No. 31 to 35, each item consists of a word or a phrase which is printed
in bold in the sentence given. it is followed by four words or phrases. Select the word or phrase
which is closest to the opposite in meaning of the bold word or phrase

31.
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disclosurers
essential
interveiw
mechanism
avoid
villager
turmoil

terrible

| perfum

particular
auctioned
estemate
cautiously
misellaneous
surrender
harmonize
nationalism

transfered



35. Silence in this place is mandatory
A._ optional B. compulsory
C.. imperative D. irritating

Direction: For question No. 36 to 47, each item consists of a ;word or a phrase which iz printed
in capital letters. Choose the word nearest in the meaning to the CAPITAL word.

36. KEEN

A Careful B.  Perfect
C. efficient D. eager
37. TOOK......... FOR
A sought B. remembered
C. considered ' D. rejected
38. HARASSED
A deceived | B. troubled
C. stolen D. frightened
39. FRIGHTENED
A. courageous B. terrified
C. amazed D. crying
40. INGREDIENTS
| A. condiments B. spices
- C. constituents D. nuts
41. CLOG
A. Abump B. To push forward
C. Acover . D. To block
42. BEQUEATH
A. Under the ground B. Suffer to death
C. To leave by will D. Helpful
43. ASTRAY |
A.  Off the right path B. Out
C. Spanning D. Faroff
44. ATTEST '
A allure B. corroborate
C. assign D. enlarge



47.

51.

52.

53.

PLEASURE

A. Disappointment - - B. Happiness
C. Grief “ D, Anety
LENIENT |
A. cruel | - B. Rough
C. kind , D. Harsh
ADVERSITY -
A. mishap ‘ .' B. Failure
C. Misfortune ' D. Mediocrity
The snow will meltas theday .................... on
A set B. wears
C. continue D. None of these
Your story is-devoid ............... truth '
A of | B. from
C. by " D. with
Do not impute motives .................him 4
A on | B. to
C. with " D. after
The judge ordered that the criminal be put ............ death
A to :  B. under
C. at D. il
Why don't you............ some masons, to finish the construction work?
A rent , 7 B borrow
C. hire - D. lease
The wounded soldiers were e By their comrades
A enervated S B. evacuated
C. appailed D. excavated
The price of an article often.............. on its demand

~ A determines - B. costs
C. decides '; D. depends’
She must have.............. it as a present from her friend
A. getting B. got

C. gets D. getted



§6. Such publicmen.............. are corrupt should be exposed.

A.  which B. who
C. as D. what
57. He requested all his class.............. to attend his birthday party
A companions - B. fellows
C. friends D. comrades
58. Thecountryneedsa............... government to tackie the challenges it faces today
A stable B. stagnant ‘
C. stationary D. sustained
§9. The workers agitated forafair.............. for their work
A reward | B. price
C. salary D. wage
60. The doctor says you must continue resting as you are................. tooiill to get about_
A still ' B. already
C. yet D. il
61. The committee has to submit its report............... six months
A within B. about
C. during D. until

Directions : For question No. 62 to 72, arrange the following words so as to make a meaningful
sentence

62. A outset B. at
C. repeated D. is
E. the F it
A. FDEABC B. BEAFDC
C. FDBEAC D. BEACFD
63. A you B. in
C. are D. office
E. the F. not
A BEDACF B. AFCBED
C. CAFBED D.. ACBFED



6S.

67.

70.
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chair

not
BDECA

ADECB

no

one

CDEAB
EDBAC

Museum

was
DACBE
ECADB

one
only
DAECB
ABDCE
do

CDAEB
ABEDC
will

rice

we
EAFCDB
CBDEAF
is
foolish
pound
FADBEC
EBDACF

O

Cw U o

OO D

CwlUw

Owow
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good

CADEB
DEBCA
taking

action

BDACE
ACEBD

yesterday

closed

CDEBA
BEDCA
piece

give

EABCD
DBAEC
today

must

BEDAC
EACBD
dinner

at

eat
AEFDBC
DBCFEA
wise .
penny
he
CFABDC
BDAEFC



71.

72,

73.

74.

75.

76.

7.

78.

A, meat B. is

C. the D. changing

E. economy F. radically

A FECBAD B. AFBDCE

C. EADBFC D. CAEBFD

A poor B. he

C. attendance D. a

E. has F. very

A BEDFAC B. ACEFDB
C. DCBEFA D. FACBAE

PART B—(REASONING AND MENTAL ABILITY)

In a group of six children, Q is taller than P but not as tall as L. M is taller than N and O, but not as
tall as P Who is the shortest among them?

A N B. O
C. M D. Data inadeguate

How many such pairs of letters are there in the word ‘CLEANLINESS' each of which has as many
letters between them in the word as they have in the English alphabet, in the same sequence?

A Two | B. Three
C. Five D. Four

Three of the following four are alike in a certain way and so form a group. Which is the one that
does not belong to that group?

A. Beetroot B. Radish
C. Carrot D. Taste

Three of the following four are alike in a certain way and so form a group. Which is the one that
does not belong to that group?

A See B. Think
C. Smell D. Tastg

in a certain code language, the word ‘IMAGINE' is written as ‘ENIGAMI. How will the word
‘FLOWERS’ be written in that code?

A. RESWFOL B. SREWOLF
C. SRFWOLE . D. WOLFSRE

Pointing towards a girl, Divya says, "She is daughter of the only son of m grandfather". How the gld
is related to Divya?

A. Brother B. Cousin
C. Aunt D. Sister




79.

81.

82.

R earns more than H but not as much as T, M earns more than R. Who earns least among them?
A H B. R
c. 7T , D M
In a certain code language ‘pi na hu’ means ‘tea is good’ and ‘sa ni hu’ means ‘coffee is bad’. What
is the code of ‘is'?
A pi B. na
C. sa D. hu
in the following number series, only one number is wrong. Find out that wrong number
3 4 12 37 103 228

A 4 _ B. 12
C. 37 D. 103 7

Planets are related to astronomer in the same way as weather is related to
A Meteorite B. Meteorologist

C. Weather cock D. Barometer

Directions:Study the folloviing information carefully and answer the questions No. 83 to 87

given below :

J, K, L, M, N, O and P are seven kids playing in the garden. They are wearing clothes of colours

black, blue, white, green, pink, yellow and brown. Out of the seven, three are girls. No girl is wearing
black, yellow or brown. M's sister O is wearing pink, while he is wearing brown. J is wearing blue, while
his sister K is not wearing green. N is wearing yellow while his best friend P is a boy

83.

87.

What colour is K wearing?

A Green B. Pink

C. Brown D. None of these
What colour is P wearing?

A Black B. Bilue

.C. White D. Green

What colours are the sisters of J and M wearing?

A Pink and Green B. Pink and Yellow
C. While and Green 'D. White and Pink
What colour is L wearing? .

A Black B. Green

C. White D. Data inadequate
Which group is denoting only girls?

A KLN - : B. KNO

C. KLO . " D. Datainadequate

10



90.

91.

92.

93.

95,

97.

ZQA, XMC, VIE, TEG, ? "

A RAJ B. RAG
C. QAE D. RAI
23,29,31,37,41,7

A 45 ' B. 47
C. 49 D. 43
2,3,6,18,7 |

A 42 B. 56
C. 36 D. 108
Chair is related to wood as shoes are related to

A. Slippers B. Sole
C. Foot;:vear D. Leather

‘Cloud’ is related to ‘water’ in the same way as ‘sapling’ is related to
A Flower - B. Tree
C. Stem . D. Fruit

Sheep: Wool: : Cocoon : ?

A. Fabric B. Cotton
C. Sik D. Thread
Face : Body : : Lobby : ?

A. Bungalow B. Lawn
C. Wwall D. Room

In a certain code language ‘123' means ‘very smart boy’, ‘358’ means “very good record' and ‘579’
means ‘first in class’. What is the coded number for ward ‘very'?

A 5 B. 3
C. 8 D. 9

Day after tomorrow is my birthday. On the same day next week falis ‘Holi'. Today is Monday. What
will be the day after ‘Holi.’

A Wednesday B. ‘Thursday'-

C. Friday D. Saturday

If day after tomorrow is Sunday, what was day-before-yesterday?
A. Wednesday B. Thursday

C. Friday D. Saturday 1



100.

101.

102.

103.

104,

105.

106.

107.

A boy pointed out to a lady and said “ she is the only daughter of my mother’s brother’s single brother-
in-law”. What is the relation of the body with the lady?

A. Father
C. Brother

B.
D. Husband

Uncle

Pointing to Ajit, Rekha said, “His father is the only son of my grandfather”. How is Rekha related to

Ajit?
A.  Daughter
C. Sister

B. Niece

D. Mother

PART C—(GENERAL KNOWLEDGE AND GENERAL AWARENESS)

Who is the highest wicket taker in test cricket
B.

D.

A Shane Warne
C. Harbhajan Singh

Kapil Dev
Muttiah Murlitharan

What does five rings in Olympic symbol symbolize?

A races

C. continents

Olympic Motto ‘citius altius fortius’ means
A Stronger, higher, faster

C. Higher, faster, stronger

Which city will host 2016 olympics

A. Rio De Janerio

C. Madrid

Who was the first President of India 7
A. Jawahar Lal Nehru

C. C.Raja Gopalacharaya

B.
D.

B.
D.

games

players

Faster, higher, stronger

none of the above

New York
Tokyo

Dr. Rajinder Prasad
Lal Bahadur Shastri

Who was the first woman Governor of Indian State

A. Sucheta Kriplani
C. Sarojini Naidu
Capital 9f Orissa is

A. Patna

C. Thiruananthapuram
Capital of Lakshadweep
A Delhi

C. Silvassa

B.
D.

Vijay Luxmi Pandi
Nandini Satpaty

Jamshedpur

Bhubhngshwar

Portblair

Kavaratti
12



108

108.

110.

m.

112.

113,

114.

115.

116.

117.

118.

. Capital of Chattisgarh

A. Raipur B. Jamshedpur

C, Ranchi D. Bhopal

Who is the author of ‘Godan’

A. Kalidas B. Mahadevi Verma

C. Sumitra Nandan Pant D. Munshi Prem Chand
wWho is the author of ‘India wins Freedom’

A. Jaswant Singh B. Abdul Kalam Azad

C. M.AJinnah D. M.V.Kamath

Who was awarded ‘Dada Sahib Phalke’ award for 2007

A. DevAnand B. Dharmindra

C. Manna Dey D. ' Salman Khan

The only India boxer who is ranked world No. 1

A, Sushil Kumar B. Vijender

C. Aknhil D. Dinesh Kumar
Capital of Bhutan

A. Thimpu B. Kathmandu

C. Gangtok D. Beijing

Who gave the call of ‘Do or Die’

A. Mahatma Gandhi B. Subhash Chandra Bose
C. Jawahar Lal Nehru D. Bal Ganga Dhar Tilak
Who founded ‘Barhmo Samaj’

A, Swami Viveka Nand B. Ram Krishan Param Hans
C. Raja Ram Mohan Roy D. Rabindra Nath Tagore
In which year '‘Quit India Movement’ was launched

A 1920 B. 1942

C. 1922 D. 1945

Who was the first Viceroy of india?

A.  Lord Dalhousie B. Warren Haétings

C. Lord Canning D. Lord Mount Batten

‘Kaziranga National Park' is famous for
A. Camels B. Asiatic Lion

C. One horn Rhinoceros D. Elephants 13



119.

120.

121.

122.

123.

124.

1285.

126.

127.

128.

129.

Sonal Man Singh is associated with

A Kathakali B. Kathak

C. Bharatanatyam D. Manipuri

State language of Nagalandis

A Mizo B. Assamese

C. English : D. Marathi

Tﬁe number of languages included in Eighth schedule of our Indian Constitution
A 25 B. 18

C. 30 | D. 20

First Indian Woman to climb Mount Everest is

A Santosh Yadav B. Bachendri Pal
C. Krishna Patel D. Anju Bobby George
Where does the Rath Yatra takes place

A.  Assam B. Maharashtra

C. Wesi;_Bengal D. Orissa

Our skeletal system consists of

A. 406 bones B. 410 bones

C; 210.bones D. 206 bones
Nearest b_lanet to the sun is

A.  Mercury B. Uranus

C. Saturn D. Pluto
‘Dronacharya Award’ is given for excellence in

A.  Sports 3 4 B. Sports coaching
C. Teaching D. Social service

Who was commonly known as ‘Lokmanya’ _
A. Jaya Prakash Narayan B. Raijiv Gandhi

C. Bal Gangadhar Tilak D. Subhas Chandra Bose
Florence Nightingale is associated with?

A Teaching "~ B. Nursing

C. Drawing D. Painting

The highest literacy rate in India is of
A West Bengal B. Maharashtra
C. Kerala D. Punjab

14



130. What is the original name of Gautam Buddha

A A. Dev Varta - B. Sasodan
o C. Siddhartha " D. Bharat
131. ‘Jatiya Sangsad' is the Parliament of
A. Indonesia | ~ B. Japan
C. Bangladesh D. Srilanka
132. Which Indian Monument is known as ‘A dream in Marble’
A LalQila 'B. TajMahal
C. Buland Darwaja D. Gateway of India
133. in which state of india ‘Bihu’ is celebrated
A. Assam B. Bihar
C. Maharashtra D. Guijarat
134. Which Geometrical shape has eight sides?
A Pentagon B. Hexagon
C. Octagon D Rectangle
135. The religion founded by Emperor Akbar was
A Islam B. Din-e-illahi
C. Bahais D. Jainism

136. ‘Vatican Palace’is the residence of

A.  Queen of England B. PM. of England
C. President of U.S.A D Pope
137. Longest Epic is
A. Ramayana B. Mahabharata
C. Bhagvat Gita D. &ri Madh Bhagwat
138. First Chief Justice of india was '
A. Shri Mehar Chand Mahajan B. Shri K.G.Balakrishnan
C. Shri H.J.Kania D. Shri M.H.Kania
139. Who is the Chief Election Commissioner of India
A J.M.Lyngdoh B.  N.Gopalaswami
C. Naveen Chawla D. T.N.Sheshan
140. 'Chennai’ was earlier known as
A Madras B. Cochin

C. Patliputra 'D. Kolkata



}I‘

© 146.

141.

142.

143.

144.

148,

147.

148.

149.

180.

151.

Battle of Mahabharata was fought at

A Panipat B. Kurukshetra

C. Kalinga indra Prastha

‘Hillary Clinton’ is the

A. President of U.S. Wife of President of U.S.

C. Secretary of State D. Governor of Orlando
. ‘Taka' is the currency of

A. SaudiArabia B. Kuwait

C. Bangladesh D. UAE

How many spokes are there in the Ashok Chakra ?

A 16 B. 24

C. 22 D. 18

‘Bishop Cotton School’ was recently in news for

A Centennial celebratiogs

C. Ragging incident

NPT stands for

A. Non Proliferation Treaty

C. Nato Power Treaty
‘Macmohan line' is associated with
A india and China

C. India and Nepal

AIDS affects

A. Immune system

C. Skeletal system

B.
D.

B.
D.

Sesquicentenniai celebrations

Resignation of principal

Nuclear Power Treaty

National Power Transmission

India and Pakistan

India and Burma

Blood circulation

Respiratory system

Disease ‘Beri-beri' is caused by the deficiency of vitamin

A A

C. C

Largest bone in human body is
A_ Shin bone

C. Spinal Cord

Saina Nehawal is associated with
A. Badminton

C. Chess

B.
D.

B
D

Femur

Stirrup bone

Tennis

16



152.

1583.

154.

185.

156.

157.

158.

159.

160.

161.

Which country played finals of Champions Trophy-2008 with Australia?
A. England -~ B. New zeland

‘C. SrilLanka ‘ ' D. Pakistan

‘Chhatrapati Shivajee Airport’ is at

A. Kolkata ' B. Mumbai

C. Delhi ’ D. Amritsar
When ‘Teacher’s day' is celebrated

A 8t September : B. 8% March

C. 5% september D. 5% October
Which blood group is ‘Universal Donor?’

A A B. B

cC. O D. AB

Who is ‘lron Man of India?’ |

A. Mahatma Gandhi B. Netaji Subhash Chandra Bose’
C. Sardar Patel -D. Lala Lajpat Rai
‘Shortest Day' is on

A. December 23 B. September 23
C. December 22 ' ' D. September 22
Which is the largest state in area?

A. Madhya Pradesh ' - B. Uttar Pradesh
C. Rajasthan D. Kamataka

‘Seismology’ is the study of
A. Volcanoes B. Earthquakes

C. Tsunami ; D. Tidal waves

A. 42" Amendment B. 44™ Amendment
C. 39" Amendment D. 1%t Amendment
‘Right to Free Education’ of i:hildren of 6to 14 yearsof age is a

A Fundamental right B. legal body

C. Statutory right ' D. None of the above
Finance Commission is a

A legal body B. Constitutional body
C. Registered Society D. None of the above

The word 'secular’ and 'socialist’ were incorporated in Preamble of Constitution of india by

17



163.

- 164.

165.

166.

167.

168.

169.

170.

171.

172.

.Minimum age for President of India is

A. 18 years ‘ B. 25years

C. 35years D. 21years

Vice President of India is elected by

A, Members of Rajya Sabha B. Members of Parliament

C. Elected Members of Parliament D. Nominated by Prime Minister

“‘Davis Cup’ is associated with

A Badminton B. Hockey

C. Tennis D. Table tennis

Who among the following is not the recipient of Noble prize

A. Mother Teresa ' B. Rabindra Nath Tagore
C. Mahatma Gandhi D. C.V.Raman

Capital of USA. is
A New York B. Washington D.C.

C. Geneva D. Canberra

Which of the following countries in the world is the biggest consumer of gold?

A. USA B. Bangladesh

C. Russia . D. India

Many times we read in financial newspapers about 'FIt'. What is the full form of ‘FIl?’

A. Foreign Investment in india B. Formal investment in India

C. Fair Ihstitutionai Investment D. Foreign Institutional Investment

The financial markets of which of the following countries were badly affected by sub prime crisis
A. Russia B. Brazil

C. UK D. USA

Barack Hussain Obama belongs to which of the following political parties

A. Republican B. Democratic

C. Labour : - D. American National Congress

Which of the following programmes is being implemented in all the districts of the country'?."l

A Sarv Shiksha Abhiyan B. Navodaya Vidhyalay

- C. Ultra Mega Power Project D. Raijiv Gandhi Vidythikara Yojna
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174.

175.

176.

177.

178.

179.

180;

181.

182.

PART D—NUMERICAL ABILITY

Smallest number of four digits is

A 1001 B. 1M
c. 101 D. 1000
If 7 is added to 8 times of a number, the result is 209. What is the number ?
A 23 B. 27
Cc. 24 D 29
The difference of squares of two consecutive numbers is 31. What are the numbers ?
A. 14 and 17 B. 15and 16
C. 16and 15 ’ D. 13and 14
7/4 - 4/7 = 5/28 + 7
A 2 B. 17
c. 29 D. 1
What will be H.C.F. of 72,108 and 56 ?
A 4 B. 8
C. 12 D. 112
What will be L.C.M. of 6, 8, 12 and18 ?
A 18 B. 36
C. 6 D. 54

The population of a city was 50000. It increased to 520b0. What is the percentage increase in the
population ?

A 18% . B. 27%

C. 25% J D. 4%

I 5% of a number is 15 then what is the value of 30% of number ?

A 80 B. 90

C. 87 D. 93

What is the simple interest of Rs.800 in 2 years at the rate of 5% per annum ?
A 80 | B. 86

C. 75 D. 90

Rs.500 amounts to Rs.580 in 4 years. If the rate of interest is increased by 4% then what will be
new amount ?

A. Rs. 870 B. Rs. 675

C. Rs. 660 D. Rs.790 19



183.

184.

1886.

186.

187.

188.

189.

190.

191.

192.

If interest oﬁ Rs.18860 is Rs.740, then what will be the amount 7
A. Rs.18600 B: Rs.19600
C. Rs.19900 . 7 D. Rs.18800

If simple interest of a certain sum for 2 years at 5% p.a. is Rs.400 then what will be the compound
interest of the same sum for same time and same rate?

A Rs.310 B. Rs.520

C. Rs.410 | D. Rs.430

Sheesh Ram sold a table for Rs.540 and lost 10%. If he wants to gﬁin 10%, then what is S.P. of
the table? :

A Rs660 B. Rs.680

C. Rs.580 D. Rs.550

Ram bﬁught 21 pens for Rs.20 and he sold them at the rate of 20 for Rs.21. What is the gain% ?
A 7.50% B. 10.25%

C. 10.50% — D. 16.66%

If average of three numbers is 13 then what is the sum of these numbers?

A 39 B. 37 ‘

c. 32 - DA

Average of three numbers is 20. If two numbers are 16 and 22, then what is the third number?
A 24 B. 18

C. 20 D. 22

A shopkeeper earns Rs.540 in 12 days. In first 4 days his average income was Rs. 40. What was
his average income for the remaining days?

A. Rs.43/day B. Rs.48/day
C. Rs.52/day D. Rs. 28Jday

Average score of 5 innings of a cricket's player is 20. If score of first 4 mmngs are 40, 30, 14 and
10 respectively then what is the score of fifth inning?

A 6 B. 8
C. 4 - D3

Sapna and Sandhya can do a work in 12 and 10 days respectively. If they work on alternative days
and Sapna begins the work then in how many days the work will be completed?

A 8 days B. 11 days
C. 14 days , D. 5days

A, B and C together contracted to do a work for Rs. 450 If ratio of their work is 9: 5: 4 respectively
then find the share of A. -

A Rs220 - B.. Rs.225
C. Rs.325 ' D. Rs.180 20
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